Math 4 Name
5-8 Product Rule Date

Complete the following:

At this point in your mathematical careers, you know what the derivative is, and you know how to find the
S(x+Ax)— f(x)
Ax

little quicker using the power rule. Problem is, the power rule only works for a limited number of functions.
In this lesson we’ll discuss a shortcut to finding derivatives for a different type of function.

derivative using the awesome difference quotient (lirrg , in case you've forgotten} and a
x>

Here are a couple examples of the new shortcut in action. Read them carefully and see if you can fill in the
four parts of the formula after the examples. Keep in mind that when you find these derivatives in the
future, you will need to simplify the answer.
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_ 2 f(x)=(=x" —4x)(-5x+3)
Example 1: /() =3x(4x7) Example 2: 2

S(x)=3x-8x+4x"-3 fl(x)= (% x? —4x)(=5)+ (=5x +3)(x—4)

Product Rule: 1f f(x)=g(x)-h(x) then f'(x)= (f{‘f\) ."“(X> + L\()(> : j(<>(>
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In class practice: For each function, find the first derivative.
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Homework, Day 1: Find the first derlvatlve for each functlon
SHOW ALL WORK ONENGEMPRBIECEORRRAREK

1. f(x)=x2(2x+5)
2 t(x)=(2x—3)(—4x2)

3. y=(3x"-2x+1)(2x-1)

4. f(x)=(3-4x)

5e g(x)=(2x2 +3x—,2)2
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